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INSTRUCTIONS 

1
(a)  
You have to mark your answers ONLY ON THE ANSWER SHEET 

provided. 

(b) Your Answer sheet is evaluated by computer and hence handle it with 

utmost care.

(c) Do not fold or make unnecessary markings on it. 

(d) Use a BLACK INK PEN / BALL POINT PEN and darken the appropriate circle. 

2.
You may use pencil initially to mark your answer, if in doubt for later correction. However, finally you have to darken with Black Ink Pen / Ball Point Pen and erase all other pencil marks.

3.
Answers marked with pencil will not be considered. 

4.
The questions given are of three types: 


Q.Nos.1 to 80 are multiple choice, with only one correct answer. Blacken 

the appropriate circle completely corresponding to the correct answer (a/b/c/d) 

in the Answer sheet provided.  

Q.Nos. 81 to 120 are Assertion – Reason type questions. Blacken the appropriate circle completely corresponding to the correct answer (a/b/c/d) in the Answer sheet provided.  

Q.Nos. 121 to 150 are multiple choice, which may have more than one answer. Blacken the appropriate circle(s) completely corresponding to the correct answer(s) (a/b/c/d) in the Answer sheet. No credit for part of the answer.

5.
Attempt all questions. 

6.
Write your Hall Ticket number completely and legibly on the Answer sheet in the space provided.   

7.
No calculator or logarithm tables are allowed for use in the Hall. 

8.
Return only the Answer sheet to the Invigilator at the end of the examination
Atomic weights: 

H = 1;   O = 16;    S = 32;   C = 12;    N = 14;   

Zn = 65;    Ca = 40 ;    Cu = 63.5

Section A

80 x 1 = 80 Marks

Each question given below is provided with four options of which only one option is correct. Blacken the correct one in the Answer sheet.

1. 
9th term of the series 4, 7, 11, 17, 27, … is 


a)    305 
b)    275
c)   410              d)   512

2. 
Number of ways of arranging 6 persons in a row so that two particular persons want to sit exactly in middle places


a)    48
b)   24
c)   120              d)   720 

3. 
If x = 2; y = –1 then the value of 
[image: image48.bmp]is 


a)  
[image: image2.wmf]9

1


b)   
[image: image3.wmf]9

2


c)   
[image: image4.wmf]3

1


d)  none 

4. 
If x = 6.8 and integral part of x is 6. Then the fractional part of 2x is 


a)   0.8
b)   0.4
c)   1.6
d)   0.6

5. 
x = 2; y = –1 and z = –2 then 
[image: image5.wmf]=

+

+

-

-

÷

ø

ö

ç

è

æ

+

-

1

2

2

z

z

y

x

z

z

y

y

x

x



a)  
[image: image6.wmf]4

1


b)   
[image: image7.wmf]4

3


c)   
[image: image8.wmf]4

21

 
d)  4

6. 
P=x3 – 5x2 +11x and Q = x2 – 3x + 5 when P is divided by Q 10 is remainder then the quotient is 


a)   n+1
b)   2n – 1
c)   n – 2
d)   n + 2

7. 
If 
[image: image9.wmf]5
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x

x

then 
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3

x

x

+

is


a)   10
b)  8
c)   16
d)   18

8. 
If 231(7) ( 120(10) then 352(7) ( 


a)  304(10) 
b)  380(10)
c)  442(10)
d)  none

9. 
The value of 
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a)   
[image: image12.wmf]4

5

        
b)   
[image: image13.wmf]5


c)   1
d)   
[image: image14.wmf]4

3


10.
The inequality x2 + 10x < 12x + 80 is true for


a)     x > 10 and x < –8
b)    x > – 8 and x < 10 


c)      x > –8 or  x > 10

d)    x < –8 or x > 10

11. 
In a parallelogram ABCD, AB||CD; BC||AD. AB = 6cm; BC = 4cm DM is perpendicular drawn from D to AB and AM = 2cm then the area trapezium MBCD is (in sq.cm)


a)   
[image: image15.wmf]30


b)    3
[image: image16.wmf]10

 
c)   10
[image: image17.wmf]3


d)   none 

12. 
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13.  
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14. 
In (ABC (B = 75o; (C=15o AB = 6cm; AC = 8cm then


a)   Area of (ABC is 24sq.cm
b)   Area of (ABC is 48sq.cm



c)   Perimeter of (ABC is 14cm
d)   Perimeter of (ABC is 28cm

15. 
A and B are two towns Distance between them is 100km. Two cars from A and B started with speeds 50kmph and 20kmph respectively. If they are travelling in same direction how much time will A take to meet B.


a)  3hrs
b)   3hrs 20minutes 
c)   
[image: image28.wmf]hrs
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d)   8hrs 

16. 
The angle between two hands in a watch when the tie is 4hr 28minutes is 


a)  24o
b)   44o 
c)   34o
d)  54o
17. 
In (ABC a line drawn parallel to BC meets AB and AC in X and Y respectively then 


a)   (AXY = (AYX 

b)   (AXY = (ACB


c)   (AYX = (ABC

d)   (AXY = (ABC

18. 
16 workers can dig a well of 800 feet deep in 10 days. Time taken by 24 workers to dig a well of 720 feet deep is 


a)   6 days
b)   6 ½ days
c)   8 days
d)   15 days

19. 
Sum of first n natural numbers is 10. Then sum of the cubes of those natural numbers is 


a)   200
b)   100
c)   360
d)   60

20. 
If a : b = c : d = e : f then 
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d)   1 

21.
In the reaction  C + O2   (   CO2 ,  if 1.2  g  of C is  reacted  with 4.0  g  of  O2   in a closed 
container,  the  resultant  mixture  will have 

a)
4.4 g of CO2  



b)
1.6 g of CO2



c)
4.4 g of CO2 + 0.2 g of C

d)
4.4 g of CO2 + 0.8 g of O2

      

22.       On adding dilute HCl to a white solid, it gave off a colourless, pungent gas that turned lime water milky.  The gas evolved is 

a)
CO2




b)
N2

c)
SO2




d)
NH3


23.
Some KClO3 is heated in a test tube and the gas evolved passed into another test tube 
containing hot coke  (carbon) giving off another gas. The gas evolved in the second 

            test tube  will

a)
turn starch iodide paper blue

b) 
turn red litmus blue

c)
turn lime water milky


d)
decolorise KMnO4 solution


24.
The figure   below gives the diagram for the preparation of H2. What is wrong with it?

a)
the method of adding H2SO4

b)
Zn should not be used

c)
the H2SO4 should be concentrated
d)
method of collecting the product
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25.
I have 100 g of CaCO3. If I heat it strongly for sometime, in an open dish, cool it and weigh it 
again, 
its weight would be 

a)
95 g




b)
56 g

c)
44 g




d)
40 g






26.      An explosion can occur when in a chemical reaction, there is a sudden large increase in the     volume of the substance. Which of the following reactions could cause an explosion in the lab if you are not careful?

a)
CuSO4 +  H2S  (  CuS  +  H2SO4
b)
2 KClO3  (  2 KCl  +  3O2
c)
2 Cu + O2  (  2 CuO


d)
NaOH + HCl (  NaCl  +  H2O


27.
An amphoteric oxide reacts with both acids and strong bases. An example of an  amphoteric 
oxide is  

a)
Al2O3




b)
CO

c)
CaO




d)
SO2




      
28.
A test tube contains 0.65 g of Zn pieces.  Dilute H2SO4 is added to it and a weighed balloon is attached to the mouth of the test tube. When all the Zn dissolves, the balloon is knotted up and weighed again.  The increase in the weight of the balloon is 

a)
0.02 g




b)
0.65 g

c)
0.20 g




d)
0.15 g
























29.
In the Kipps’ apparatus, if  Fe S  is placed in the lowest compartment, instead of the middle 
one, it would not be of use in 
the lab because

a)
H2S will not be formed


b)
the acid will overflow

c)
SO2 will be obtained

d)
we cannot control the formation of H2S    

30.
When bore well water  is  boiled, the vessels get  a coating on them. called scales. This scaling 
can be removed by

a)
treating with soda


b)
heating

c)
treating with dilute acid


d)
washing with soap





31.
Ground water table can be increased by

a)
pumping water



b)
digging wells

c)
rain water harvesting


d)
sinking bore wells



         


32.
Usually, salts are obtained by reacting an acid with a base. One salt can be obtained by 
passing 
a gas into dilute HCl. Which salt is that? 

a)
NaCl




b)
KCl

c)
CaSO4


                          d)
NH4Cl



33.
In the Periodic Table, a rough estimate of the % of the elements that are metallic is

a)
25%


  

b)
78%

c)
99%




d)
50%

34.
I  have a   1 litre of a  22% solution of salt but I wish to make a 1 litre of 10 % solution. How 
can I do it?

a)
454.54  mL of solution and  545.46  mL water

b)
500 ml solution and 500 ml water

c)
22 ml solution and 978 ml water

d)
220 mL water and 300 mL solution 

35
Which of the following is  NOT a chemical change

a)
Action of heat on CaCO3

b)
Action of heat on Pb(NO3)2
c)
Action of heat on Cu


d)
Action of heat on  KClO3



36.
Which of the following is a chemical change?

a)
burning of paper


b)
heating  tin  metal

c)
dissolving KCl in water


d)
spinning yarn

37.
Which of the following is an acid ?

a)
table salt 



b)
sugar

c)
washing soda



d)
vinegar

          



38.
It is stated that equal number of molecules of all gases occupy equal volume if the 
temperature and pressure are the same.  In the reaction   2SO2  +  O2  ( 2 SO3

will the reactants and the products occupy

a)
same volume



b)
product has greater volume

c)
product has smaller volume

d)
product is a  solid




39.
The weight of O2 that combines with one gram of Cu to give CuO  is

a)
0.252 g




b)
0.66g

c)
16 g




d)
32 g

40.
Sea water is very salty because

             a)
the salts  on the earth get washed down into the sea

b)
marine life produces salt

c)
salts come from the  sea shells  


d)         rain over the seas contains salts.





41.
In solar system, the planet that has maximum number of moons is  

a) 
Neptune 
b)
Jupiter

c)
Saturn

d)
Uranus 


42.
In a screw gauge if the pitch is 0.5 mm and least count is 10 (m, then the total number of divisions on the circular scale would be 


a)
50

b)
100

c)
20

d)
5

43.
If the time-displacement graph of a particle is parallel to time axis, the velocity of the particle 

is  


a)
infinity



b)
equal to acceleration of the particle

c)
unity



d)
zero 

44.
A thief stole a box full of articles of mass M and while carrying it on his head, he jumped from a wall of height h. Before the thief reaches the ground, he carried a load of weight.  


a)
M

b)
Mg.

c)
zero

d)
Mg h

45.
A man is standing in a boat in still water, if he walks towards the shore, the boat will   


a)
move away from shore

b)
remain stationary 


c)
move towards the shore

d)
sink.

46.
A bullet of mass A and velocity B is fired into a block of wood of mass C. If any loss of mass and friction be neglected, the velocity of wood-bullet system will be 


a)
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b)
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47.
The moment of a force is a measure of 

a) The impulse of the force

b)
The stability of the body. 

c)
The capacity to turn a body
d)
The change in momentum of the body.

48.
When a graph is plotted between pressure along x-axis and reciprocal of the volume along y-axis, it is a  

a) straight line passing through origin


b) straight line having an intercept on the y-axis.

c) straight line having an intercept on the x-axis.


d) Curve and not a straight line.

49.
Among the following most common elements, the one with greatest density is 


a)
lead

b)
gold

c)
iron

d)
silver

50.
The change in temperature of a body is 480C. The change in the temperature on Kelvin scale would be     


a) 
40 K

b)
48 K

c)
50 K
d)
none of the above

51.
The distance between a crest and its consecutive trough is L, then the wave length is given by   

a) 0.5 L

b)
L
c)
2 L

d)
4L
 

52.
In a periscope, the angle made by the reflecting surfaces of two parallel plane mirrors, with the axis of the tube is 


a)
900

b)
450
c)
600

d)
300
53.
A real image, equal in size to the object, is obtained when the object is placed at the centre of curvature in front of a 


a)
concave mirror


b)
plane mirror 


c)
convex mirror


d)
none of these 

54.
Two plane mirrors are inclined at a certain angle such that a ray of light coming parallel to one of the mirrors is rendered parallel to the second mirror after two reflections. The inclination between the plane mirrors is  


a)
450

b)
300
c)
600

d)
none of these

55.
A beam of parallel rays after refraction at the boundary of two surfaces will   

a) diverge



b)
converge
c)
remain parallel 


d) 
remain undeviated. 


56.
An electric bulb is rated 220 V and 100 W. The resistance and current through filament is respectively. 


a)
484 ( , 5 / 11 A



b)
484 ( , 11 / 5 A



c)
5 / 11 A , 22 (



d)
45 ( , 11 / 5 A 

57.
In a safety fuse, the temperature to which the wire gets heated is in inverse proportion to  


a)
radius of the wire


b)
cube of the radius of the wire 


c)   
square of the radius of the wire


d)
fourth power of the radius of the wire. 

58.
The intensity of a magnetic field is defined as the force experienced by a 


a)
standard compass


b)
unit positive charge


c)
unit negative charge


d)
unit north pole.

59.
A magnetic field cannot exert any force on a    


a)
moving magnet



b)
moving charge



c)
stationary magnet


d)
stationary charge

60.
Choose the correct statement. That lines of force of magnet


a)
do not intersect each other  

b)
always intersect with each other 


c)
cannot be mapped on a piece of paper d)
are real and not imaginary lines.

61.
The chemical used for preservation of semen in artificial insemination is  


a)
liquid CO2



b)
Liquid Nitrogen



c)
Methane



d)
H2O2 

62.
The main objective of Operation Flood is 


a)
to increase egg production

b)
to increase milk yield 


c)
to increase plant production

d)
to increase oil production 

63.
Milt is 


a)
sperms produced by fish


b)
sperms produced by Earthworm


c)
eggs released by frog


d)
eggs released by fish 

64.
Which of the following is not a marine fish? 


a)
Sardinella 



b)
Harpodon 


c)
Wallago



d)
Lactarius 

65.
Citrus canker is caused by 


a)
Pseudomonas



b)
Xanthomonas


c)
Aeromonas



d)
Clostridum 

66.
The term ‘broadcasting’ implies 


a)
sowing of seeds



b)
removal of weeds


c)
method of winnowing


d)
crop rotation method 

67.
The receptors of  pain are called 


a)
Pacinian corpuscles 


b)
Nociceptors 


c)
Ruffinis corpuscles


d)
Meissners corpuscles 

68.
The organ of hearing in human being is 


a)
cochlea




b)
rods and cones


c)
lagena




d)
tympanum 

69.
The part of retina without rods and cones is called 


a)
Fovea centralis



b)
area centralis


c)
yellow spot



d)
blind spot 

70.
Which of the following organisms are commonly called “ Floating pastures of sea” 


a)
monera

b)
protista

c)
diatoms

d)
algae 

71.
Which of the following is not a correct set ?


a)
sponge – porifera


b)
mussel – mollusca 


c)
centipede – echinodermata

d)
tapeworm – platy helminthes 

72.
Tikka is mostly noticed in 


a)
groundnut
b)
rice

c)
wheet

d)
jowar 

73.
The Bactiriophage  is a kind of 


a)
bacteria

b)
fungus

c)
virus

d)
protozoa

74.
Which of the following is a correct set? 


a)
Whooping cough – Bordetella

b)
Diphtheria – Salmonella 


c)
Typhoid – Rubeola


d)
Typhoid – Mycobacterium lepra 

75.
The bacterium that grows in improperly stored food is


a)
Mycobacterium



b)
Clostridium 


c)
Salmonella



d)
Azatobacter 

76.
At what temperature pasteurization of milk is done? 

a) Heating at 800 C followed by cooling at 200 C 

b) Heating at 720 C followed by cooling at 100 C

c) Heating at 800 C followed by cooling at 150 C

d) Cooling at 00 C followed by heating at 720 C

77.
Zinc phosphate in grain storage house is used as


a)
poison to pests



b)
disinfectant 


c)
rat poison



d)
fumigant 

78.
Stomach and nerve disorders are cured by plant derivatives that are extracted from 


a)
Nuxvomica



b)
Ocimum sanctum


c)
Eucalyptus 



d)
Digitalis 

79.
The branch of science that deals with the transfer of desired characters of one organism to 

another is 


a)
Genetics



b)
Genetic engineering 


c)
Gene therapy



d)
Mutations 

80.
The vaccine against Anthrax was invented by 


a)
Edward Jenner



b)
Sir Ronald Ross


c)
Louis Pasteur



d)
Watson and Crick 

  Section –B






40 x 2 = 80 Marks

The following questions consist of two statements, one labeled the Assertion ‘A’ and the other labeled Reason ‘R’. You are required to examine these two statements carefully and decide if the assertion ‘A’ and Reason ‘R’ are individually true and if so, whether the Reason is a correct explanation of the assertion. Select your answer using the codes given below and mark your Answer Sheet accordingly.





Code             

Both A and R are true and R is the correct explanation of A 
    a

Both A and R are true and R is not a correct explanation of A 
    b

A is true but R is false



    c

A is false but R is true



    d

81. 
Assertion A : 
Cross section of a tent is a rectangle with a semi circle on its length. If the 



length and breadth of rectangle are l and b then its area is 
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Reason R :
Area of semi circle of radius r is 2(r.

82.
Assertion A : 
If two triangles are congruent then they are similar.


Reason R 
: In similar triangles the ratios of corresponding sides are equal 

83.
Assertion A : 
If the arithmetic mean of a 1, a 2,…, a n is 
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...

3

2

1

n

a

a

a

a

n

+

+

+

+



Reason R 
: 
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84. 
Assertion A : 
If (a – 2b)2 + (2b –3c)2 = 0 then a : b : c = 6 : 3 : 2. 


Reason R 
: If sum of squares of two or more expression is zero then each expression is ‘0’.

85. 
Assertion A : 
if |x – 2| ( 3 then –4 ( x ( –2


Reason R 
: 
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86.
Assertion A : 
Median of 6, 8, 7, 3, 5, 10, 2 is 6.


Reason R 
: Mode of 12, 13, 4, 6, 8, 9 is 9

87.
Assertion A : 
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Reason R : 
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88.
Assertion A : 
Circumcentre, centroid and orthocentre of a triangle are collinear


Reason R 
: Centroid is the point of concurrence of medians of triangle. 



  Orthocentre is point of concurrence of altitudes of a triangle.

89.
Assertion A : 
If angles of triangle are 30o, 60o and 90o then the ratio of sides of triangle is 1 : 



2 : 3.


Reason R 
: In (ABC (A = 90o then BC2 = AB2 +AC2.

90. 
Assertion A : 
If 
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Reason R 
: If a : b = c : d then ac = bd.

91.
Assertion A:
Water from borewells is often hard.

Reason R   :
Ground waterdissolves salts present in the soil.


92.
Assertion A:
Carbon dioxide is pumped into soft drinks under pressure.


Reason R:
It dissolves in water to some extent only under pressure.

93.
Assertion A :
In houses where well water is used, there is sometimes a white coating on the 

taps.


Reason R:
The metal of the taps dissolve in the water and this leaves behind a white 

deposit.

94.
Assertion A :
 Oxygen is a combustible gas.


Reason R:
 Many substances burn in oxygen.

95.
Assertion A :
Chlorine is added to water supplied by the municipality.


Reason R:
It is done to improve the taste of drinking water.

96.
Assertion A :
Patients who cannot breathe are never given pure oxygen.


Reason R:
The composition of air must be maintained and pure oxygen can burn tissues.

97.
Assertion A :
A combination of zinc and dilute HCl is used as a reducing agent.


Reason R:
Metals are good conductors of electricity. 

98.
Assertion A :
 Copper sulphate gives a deep blue colour with ammonia solution. 


Reason R:
 Copper forms a complex with ammonia, which is blue in colour.

99.
Assertion A :
When sulphuric acid has to be diluted, the container is placed in a water bath 

and the 
acid is added slowly to the required amount of water.


Reason R:
The process of dilution of sulfuric acid gives off a lot of heat.

100.
Assertion A :
Cloud seeding is done to induce rainfall. It is done by spraying substances 

like silver iodide into the clouds.  

Reason R:
Silver iodide is sprayed because it is yellow in colour. 

101.
Assertion A: 
Moon rotating about earth always shows the same features on surface.


Reason R: 
Moon’s period of rotation coincides with earth’s period of rotation. 

102.
Assertion A:
The Vernier scale, which has n divisions and whose length in total is 

equal to n-1 main scale divisions, has least count of 1/n of main scale division.   

Reason R:
The difference in length of vernier and main scale divisions is 1/n-1 of main scale division. 

103.
Assertion A:
A body going up vertically is retarded, while the body falling down vertically 

is accelerated.


Reason R:
The acceleration due to gravity changes sign while bodies goes up and falls 

down.

104. 
Assertion A:
A body is falling from rest. After some time assume acceleration due to 

gravity becomes zero, then the body at that instant will come to rest. 


Reason R:
Newton’s first law is valid always.  

105.
Assertion A:
Centre and Centre of mass may not coincide for non uniform distribution of 

mass  in a symmetric body like circle, sphere. 


 Reason R:
Centre of mass is the point where total moments of various points of body 

become zero.  

106.
Assertion A:
In a Bramah press, the work done on smaller cylinder side is same as work 

done on bigger cylinder side.      

Reason R:
Force multiplied by distance piston moved gives work done.  

107.
Assertion A:
The temperature of a substance was announced to be so many degrees 

without mentioning Celsius or Fahrenheit scale and on either scale it turned out to be same.     

Reason R:
There are several values at which Celsius and Fahrenheit scales coincide.   

108.
Assertion A:
When vibrating body and a person is at rest, the frequencies of vibrating body 

and that of person hearing may not be same.  

Reason R:
The frequency heard by the person is the frequency with which eardrum vibrates.

109.
Assertion A:
The maximum angle of refraction when a ray passes from the glass to air is 

critical angle. 

Reason R:
Refractive index of glass to air is more than one. 

110.
Assertion A:
To produce more heat, when connected to AC mains the heater coil should 

have higher resistance.

Reason R:
The value of resistance determines the current flowing in the heater coil.

111.
Assertion A: 
Oysters are noteworthy for formation of pearls. 


Reason R: 
CaCO3 secreted around an irritating object in the body of an oyster hardens 

and becomes a pearl. 

112.
Assertion A:
Rods in the eye have a reddish pigment called visual purple or Rhodopsin    


Reason R:
Rhodopsin is responsible for colour vision. 

113.
Assertion A:
Different types of taste receptors are scattered on tongue.  


Reason R:
The taste receptors of tongue detect various chemicals present in foodstuffs 

and there by help in detecting taste.

114.
Assertion A:
The colour of hair of Europeans is not black due to absence of the 

pigment Melanin.


Reason R:
Melanin protects skin and hair from ultra-violet radiation.

115.
Assertion A:
People get heat cramps due to prolonged exposure to hot sun.   

Reason R:
Due to scorching heat people loose NaCl and water from the body.  

116.
Assertion A:
Release of more than one ovum in a cow is called “ superovulation” 


Reason R:
Somatotrophic hormone (STH) induces superovulation.  

117.
Assertion A:
Black clay soil is most suitable for fish culture.    

Reason R:
Black clay soil has more water holding capacity.   

118.
Assertion A:
Rhinoceros beetle is an insect pest of coconut plant. 

Reason R:
Coconut wilt is caused by a virus.  

119.
Assertion A:
Green manure is the most commonly used manure in agricultural crops 

Reason R:
Sun hemp, pulses, sesbania plants that are decomposed with in the soil due to 

activity of soil microorganisms constitute the green manure. 

120.
Assertion A:
Snake venom may effect either neurosystem or blood vascular system.

Reason R:
Toxins called neurotoxins are present in snake venoms.  

 Section – C 

30 x 3 = 90 Marks

Each question/statement given below is provided with four possible answers / alternatives of which one or more may be correct.

121.
In (ABC AD is altitude drawn from A to BC and (A = 90o, then 


a) (ADB ~ (CDB

b) (ADB ~ (CAB 


c) (ABC ~ (DAC

d) none

122. 
In the following figure AD||BC (OBC = 100o,                       B

       
(BOD = 140o then

      



            D            O


a) (ADO = 40o
b)AD.OC=OB.OD







                C


c) (ADO = 50o
d) (OCB = 40o




                 A

123. 
In (ABC midpoints of sides BC, CA and AB are D, E and F respectively. BC = 14cm. B, C, E and F are concyclic. Then 


a) (DEF is an equilateral triangle of side 7cm



b) (DEF is an equilateral triangle of side 6cm each 


c) Area of (DEF is
[image: image44.wmf].
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d) perimetre is 18cm.

124. 
ABCD is a cyclic quadrilateral in which AC and BD are diameters of the circle and O is the centre 


a) (ABC = (ADC = 90o
 b) (DAC = (DBC



c) (AOB = 2(ADB
d) (AOB = (ACB 

125. 
If 15 workers can construct a wall of 200sqm area in 10days then 

a) the number of workers required to complete the wall area 300sq.m in 15 days is 15.

b) 20workers can complete the wall of 400sq.m in 15days.

c) 20workers can complete the wall of 400sq.m in 20days.

d) 10workers can complete the wall of 200sq.m in 20days.

126. 
Radius of a semi circle is 14cm, then 

a) area semicircle is 308sq.cm

b) circumference of semicircle is 44cm.

c) Circumference of semicircle is 72cm.

d) Angle is semicircle is 90o
127. 
x4–5x2 –36 = 0 

a) Has 4 real roots


b)    Has two real roots.

c) The solution set of given equation is {–3, 3}

d) The solution set of given equation is {–3, –2, 2, 3} 

128. 
The pair (x, y) which satisfies x2 +3y2 = 12 is  

a) (3, 1)
b)  (
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, 0)
c) (0, 2) 
d) (–
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129.
In the reaction     2 Cu I2     (    Cu2 I2   +   I2   , 

a)  copper is oxidised                       b)  copper is reduced              


c)  iodine is reduced                         d)  iodide  ion is oxidised


130.
Hard  water can be softened by

a)  chlorination

         b)    ion exchange process


c)  treating with washing soda         d)    saponification                   




131.
A solution of calcium hydroxide  shows the appearance of a white precipitate on passing 
a gas through it. The gas could be 

a)   Hydrogen


        b)   nitrogen dioxide


c)   carbon dioxide                          d)   sulphur dioxide          


132.
The beaker contains  sugar and  NaCl dissolved in water. The arrows show the movement of 
the constituents. What is wrong in the diagram below?



    anode
  
            cathode         

                       sugar


          -
          

                      Na+            Cl-




a)   the ions are moving to the wrong electrodes


b)   sodium does not form positive ions


c)   sugar does not move in an electric field


d)   the electrodes are too far apart              


                       

133.
I2  +  NO2 + 3 H+ +  7 (O)     ( 2 HIO3  +  HNO3.   Which of the following are correct statements?

a)   The above  equation is a balanced equation.


b)   There is no mass balance.


c)   There is no charge balance.


d)   It denotes  a non stoichiometric reaction.






134.
My father  used to live in Rajasthan . There he had a bicycle for 10 years and it  was never 
rusty. Now we live in  Chennai.  My father bought  me a new bicycle but it has  become rusty   
in six months. My father says  I am  careless .How can I defend myself?

a)  Bicycles were not made of iron and steel  when my father was young.


b)  Rusting is much faster in the presence of humidity.


c)  Chennai has high humidity.


d)  Bicycles  were coated with special paint 30 years ago.





135.
One molecule of  oxygen weighs 32 amu , one molecule of  hydrogen weighs 2 amu  etc.

Therefore, if 32 g of oxygen contains  6.023 x 1023   molecules of oxygen, 2 g of hydrogen will  contain how many molecules of hydrogen?


a)  2000



b)  1.88 x 10 23


c)  6.023 x 1023



d)  5.31 x 10 -23





136.
An element A combines with an element D to give AD and AD2 . 


If the oxidation state of A is II in the compound AD and D does not change its oxidation state, 
then the oxidation state of A  in AD2 is


a)  I



b)  II


c)  III



d)  IV

137.
If a solid body weighs 5 N in air, 2.8 N in water, 3.2 in liquid 1 and 3.6 N in liquid 2, then

a) The liquids 1 and 2 are heavier than water 


b) Density of water is less than liquid 2 . 

c) Liquid 2 is lighter than liquid 1 for same volume. 

d) Solid body displaces lesser volume in liquids than that in water. 

138.
Choose the conditions necessary for equilibrium of a floating body

a) The weight of the immersed portion of floating body must be equal to the weight of the displaced fluid. 

b) The density of liquid multiplied by the volume of the floating body immersed must be equal to mass of the floating body. 

c) The Centre of gravity of the floating body, and the centre of buoyance must be on the same vertical line.

d) For a spherical floating body the centre of gravity and the centre of buoyance coincide. 

139.
A block of wood is floating on water at 00 C with a certain volume V above the water level. The temperature of water is slowly raised from 00 C to 200 C. Then during this time  

a) V will remain unchanged.


b) V will continuously increased from 00 C to 200 C 

c) V will decrease until 1/5th of the temperature interval 00 C to 200 C and then increase.

d) V will decrease until half the interval of temperature 00 C to 200 C and then increase.

140.
Identify the correct statement (s) : 

a) A concave mirror can give a virtual image.



b) A convex mirror gives virtual image of all real objects. 

c) A concave mirror gives a diminished virtual image. 

d) 
A convex mirror gives a diminished virtual image. 

141.
A balance with unequal arms has two masses m1 and m2 balanced in air. It is immersed in 

water totally, then  

a) It remains balanced because both masses m1 and m2 are in water.


b) The buoyancy at arms of balance is different. 

c) The mass  m1 must be equal to m2. 

d) There could be one combination of m1 and m2 occupying the required volume giving rise to balance. 

142.
A body travels with uniform acceleration starting from rest for a time t after which sign of 

acceleration is suddenly changed, then  

a) The particle will reach starting position after a time t. 

b) The distance traveled by particle to return to starting position is greater than that it traveled in time t earlier. 

c) The particle continues to travel in the same direction immediately after acceleration changes sign. 

d) The particle, when it comes back to the starting position, its velocity will be zero.

143
Identify correct statements 

a) When a wave is travelling in medium, the distance between nearest two particles that 

are at equal distances from their equilibrium positions is wave length of wave.   

b) In progressive wave some particles of medium are at rest at an instant of time, where as, in standing wave all particles of medium are at rest at an instant of time.  

c) Transverse waves only travel in vacuum. 

d) When a sound wave and light wave travel in medium and their directions intersect, the energy is transferred from light to sound. 

144
A concave mirror has a focal length 15cm. Then 

a) Its radius of curvature is 25 cm. 

b) A real object placed at 30 cm in front produces an image of same size as the object. 

c) A virtual object at 30 cm produces an image of same size as the object. 

d) For all distances greater than 15 cm in front of mirror a real object produces a real image.

145.
The fish that are used in “biological control” are 


a)
Tilapia mossambica


b)
Cyprinus carpio


c)
Catlacatla



d)
Labeo rohita

146.
The animals that maintain constant body temperature are  


a)
birds

b)
mammals
c)
lizards 

d)
amphibians 

147.
The parts of Ear that maintain equilibrium of the body are


a)
vestibule



b)
semi circular canals 


c)
cochlea




d)
ear ossicles  

148.
Which of the following chemicals are used as fumigants? 


a)
Ethylene dibromide


b)
Zinc phosphide



c)
Aluminium phosphide

 
d)
Malathion 

149.
Which of the following insects are useful to man?   


a)
Lacciferi  lacca



b)
Apis indica



c)
Attacus cynthea



d)
Uzi fly 

150.
The advantages of Datura are  


a)
yields alkaloids 


  b)
useful to cure chest and skin disease


c)
yields camphor


  d)
useful to cure skin diseases and ear ache  
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